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, L rgndidates are reqmred lo glFE their answers in
Iﬁﬂr own words as far as practicable.

Answer any ten questions: 2x10=20
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a) What do you understand by micro economics?
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b) State any two assumptions of Law of the
Diminishing Marginal Utility.
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*i - W'hatdo.yuu mean by budget constraints?
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What is production function? |
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Distinguish between variable cost and fixed. 1)

of production.
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What is market?
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What is the
curve?
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Wn#gu-diﬂonlufequilimum of a
in the long run in a perfectly compet
market?
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What do you mean by law of returns 10
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Mention two factors, other than price ¥
influence the demand for a commodity.
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What is meant by demand schedule?
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0 What is marginal revenye?
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m) What is meant by opportunity cost?
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p) Define producer surplus.
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o) What is substitution effect?
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Answer any four questions: 5x4=20
-1t BIATD Arsa Taa e -

a) Explain the difference between change in
demand and change in quantity demanded.
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b) Explain with the help of a diagram what do you
mean by marginal rate of substitution between
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€) Derive average productivity an
pmductiun

productivity curves of a factor of

from the total product curve.
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d) Discuss the relationship between average
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f) How will the equilibrium price change
pcrfe.:ﬂy mmpetitivﬂ market when then
change in (i) supply. (i) in demand, and (i
demand and supply-
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Explain, with the help of suitable diagrams, the
relation between the long-run average cost
curves of a firm and its short-run average cost

CUrves.
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Explain the equilibrium of a firm and industry
under perfect competition in the long run.
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